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PROBLEM 1
Use the Gauss theorem to calculate the flux of the vector field:
A= 2y vt w377 +37)

through the surface
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PROBLEM 2
Calcuiate the integral C.[L A-dr using the Stokes’ theorem for:

(a) A=(x+2y,y-3z,z-x)

L: unit circle in the xy plane oriented anti-clockwise.

b) A=(0,x.0)

L: triangle defined by points
(1,0,0), (0,1,0) and (0,0,1)

€ A=@0.x"2")

L: the boundary curve of the part of the surface x*+y'+z7=/ that lies in
the first octant (x>0.v>0.2>0), oriented anti-clockwise fror¥ the origin.
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